
 
 

 

The birthday party  
 
  

1. Match them up!  
Draw a line to match the picture and the word. 

  

     
 
 
 
 

presents fairies superheroes spies princesses children 
 

 

 
  
2. Where does it go?  
Underline the plural endings. Then write the words in the correct box. 

  

presents superheroes candles tomatoes games 
princesses balloons sandwiches crisps boxes 

 

-s -es 
presents princesses 

To make plurals, we usually add ‘s’: 
one present, two presents one candle, two candles 
 

But there are some special spelling rules! 
Words ending in consonant + y:  
one fairy, two fairies one spy, two spies 
 

Words ending in o, s, x, ch: 
one princess, two princesses one box, two boxes 
one superhero, two superheroes one sandwich, two sandwiches
 

And some words are different! 
one man, two men one child, two children 
one woman, two women one person, two people



 
 

 
 
  

3. Find the spelling!  
Look at these plural words. Write the singular word.   

one ___man___ two men one ____________ two spies 

one ____________ two fairies one ____________ two people 

one ____________ two parties one ____________ two cherries 

one ____________ two children one ____________ two babies 
 
  

4. Look and find!  
Look at the picture. What plurals can you see? 

  

 

I can see two spies, ...........................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

..........................................................................................................................................................

 


